[3IAZELVTHES

12 + 4 D12H( HDS5N3E ). 4H( DB )TY,

<Lf=E>
D12 + 4 = BEx
@ 28 + 7 = BEx
@ 6 + 6= -8
@ 0+5-= Ex
— DURDOEZEARZLHIDHD
DUEIE, EANEO>TLSBD., EUHIDBTFEHHVET,

The ( @F )eL\WET, flEZELHIDHTHEL LD,

<LRUFE>
( 20 He( Ex2 )e( AWER )T, LHDHB,

18 +6 =3 —-( )X( )=(C )
<E@E>DOUERZLES

D24+3= @40+8=

218+2= ©81+9=

@15+5= ©8+1=

EERgFEE > 5 —

[4]HF)NDHZIDIE

HDUEREICE. ( DUEINS )DUREE( DUETThEL Db
EHhHUET, ( DUTThLL DUHEZHETIE( EF2 )L
( HF) )HHET,

<LfHIE>

DOWBEZH10fEIHWET . SAICRILET ODlTdE.
1AZE. AREICEZTLEOD ?

<HEE>HFEIODVHEEEZS

D13+2= @3I3+9=
236+5= ®78+4=
@9+4= ®17+3=

ERItgFEE > 45—



